5o a4 5 =]
T e UL B A S RT3 = ME K Uk E B e ==
7 BRIBE X oo #H#B
(FEEIF. S EE R KRER U — 27 BRD

Oo# A VRk2 78 5H30H () ~6H13H (1)

O% 7t TREREERAKIKS i

Of R <1®RY—7>

—AY—7— —BU—7—

HIERES 10—3 E4 THEHRE 12—3 T
HERS 11—3 NTR THEWE 20-3 %H
IR E 7—3 WA THEWE 14—5 FH
R fif 6—5 INTH T3 5—5 ZE
U fif 3—4 E& T4 18—1 Fit
INTFAR 4—1 E& A 20—2 FEi

TL—A7 (A V—7DLFEE)
18 RS 1 2 —4 KA NTA — 7 HEfAG
SIS - WA 5 — 2 B4 RBE: HIERES 14 -6 AT

<2V —T7>

—1E#Y —7 — — 28y —7—
TEHE 10—10 FHERS A 2 —2 HEff
THEHE 17—5 NiRES ZE 11—3 MMER
THEHRE 214 INTFAR A 6—0 £E&
HiERE 11—4 T3 A 11—1 FH
HiERE 8—4 INTAX B fiff 9—1 MG
ik 2 6—1 INTFAR U fiff 6—0 K&

FL—F7 WEAf 17—0 Fi
3« AN EER AR R 6 —5 £&E
VTR 4—2 T FE R 3—2 B
1 - 2R EHE £t 6 —4 FH

HIERA 11-—9 THEHRE
L5 « 2 (B 8
L BERA o TIEBER S — FHEBE B h—T A o R

<PBE R —F A b EALHRE R >

— 1 [a]H —
TH#E 11—3 HiTH HiEWEAE 3—5 L
VLA 5—3 NTAR ZIRA 7—0 HEf
— YR —
T-HEWE 5—4 ZEH VA 7—1 TE
— AT 5 —
HERE 3—1 NTAR U Al 2—1 wiTH#
— 3L EHE — PRl 13—1 %5
— R — WL 10—5 TIEHE
& W% THEEN B ESEER (1 44KEY 4RF)
% 2N TIEE R
%5 3L I LR SR

AR A T WSL L P v S5 AR



